B APNaLS_4eALA

UEILA40_LZA4E Y

[

0.5

alphal3_4eX1X:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

delta46_12X4eY:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

alpha4b_4ey4ay

7293

7292.5

7292

7291.5

7291

7290.5

7290

7289.5

7289

alpha46_4eY4aY:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

run:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

deltal3_lzx4ex

segment

o
2

25

15

05

deltal3_12X4eX:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum
segment:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 7291}

P -
e e e eeeeamaenaaaaan .-

8593 8593.5 8594 8594.5 8595
cyclenum

usl_4eY:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

usl_12X:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

usl_sex

7293

7292.5

7292

7291.5

7291

7290.5

7290

7289.5

7289

usl_4eX:cyclenum {run == 7291}

[

8593 8593.5 8594 8594.5 8595
cyclenum

run:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 7291}

P -
e e e eeeeamaenaaaaan .-

8593 8593.5 8594 8594.5 8595
cyclenum

usr_4eY:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

usr_12X:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

usr_aex

7293

7292.5

7292

7291.5

7291

7290.5

7290

7289.5

7289

usr_4eX:cyclenum {run == 7291}

[

8593 8593.5 8594 8594.5 8595
cyclenum

run:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum



3012.8

usl_coill:cyclenum {run == 7291}

3012.6F
3012.4 F
3012.2F
33012
3011.8
3011.6
3011.4
3011.2F
33011F

3010.8F

3010.6F

8593 8593.5 8594 8594.5
cyclenum

usl_coil6:cyclenum {run == 7291}

usi_culo

-
T

PRI I AR B B
8593 8593.5 8594 8594.5 8595
cyclenum

5768.8

5768.6

5768.4

5768.2 F

6768 |

5767.8

5767.6

5767.4

5767.2

6767 F

5766.8

3766.6 F

[

usl_coll/

0.5

usl_coil3:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

usl_coil7:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

3815.2

3815

3814.8

3814.6

3814.4

3814.2

3814

3813.8

3813.6

3813.4

3813.2

3813

7293

7292.5

7292

7291.5

7291

7290.5

7290

7289.5

7289

usl_coil4:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

run:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum




7639.5

usr_coill:cyclenum {run == 7291}

27640

7640.5

-27641)

7641.5

8593 8593.5 8594 8594.5 8595
cyclenum

usr_coil6:cyclenum {run == 7291}

=

usI_coio

8593 8593.5 8594 8594.5 8595
cyclenum

-5598

5598.5

-5599

5599.5

-5600

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

usr_coil7:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

3000

2999.5

2999

2998.5

2998

7293

7292.5

7292

7291.5

7291

7290.5

7290

7289.5

7289

usr_coil4:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

run:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum




-428.5

-429

-429.5

-430

1X_coill:cyclenum {run == 7291}

PO S N N A B I
: 8593 8593.5 8594 8594.5 8595
cyclenum

-489.5

-490

-490.5

-491

-491.5

4eX_coill:cyclenum {run == 7291}

8593

8593.5

8594

8594.5

8595
cyclenum

-70.5

-715

1-93.5

-94.5

-95.5

1X_coil3:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

4eX_coil3:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

1X_coll/
=

05

4ex_coll/
=

05

1X_coil7:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

4eX_coil7:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum




170.5

170

169.5

168.5

181.4

181.2F
181F
180.8 F

180.6 F

180.4
180.2

180

1798
179.6 F
179.4F

179.2F

4aY_coild:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

4eY_coild:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

4ay_collb
=

0.5

4eY_collb
=

0.5

4aY_coil6:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

4eY_coil6:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

4eY_coil7:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum




-230

-230.5

—-231]

-231.5

1ZA_CUNO

-232

1

12X_coill:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

12X_coil6:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

-83.5

-84

-84.5

-85.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

12X_coil7:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595

cyclenum

w
o

12X_coil4

15

7293

7292.5

7292

7291.5

7291

7290.5

7290

7289.5

7289

12X_coil4:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum

run:cyclenum {run == 7291}

8593 8593.5 8594 8594.5 8595
cyclenum
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